
171. Решить уравнение с модулем 

2
2

2

cos 0 cos 0
2cos cos 0 cos (2cos 1) 0

2cos | cos |
cos 0 cos 0

cos (2cos 1) 02cos cos 0

x x
x x x x

x x
x x

x xx x

 ≥  ≥
  − = − =  = ⇔ ⇔ ⇔ ≤ ≤    + =+ = 

 

cos 0 2
cos 0

2cos 01 3 2cos
2 1cos 2 2

2 3 3cos 0
1 2cos 0 cos 2 2 :
2 3 31cos 22 2 :

3

x kx
x

x k x kx
x

x x k x k
x
x x x k x k k

x
x k k

π = + π ≥ 
   = π π   = + π = + π  =   =    π π  ⇔ ⇔ = ⇔ = − + π ⇔ = + π  ≤   π π =   = − = + π = − + π ∈      = − π   = − + π ∈  

!

!










. 

Ответ: ; 2 ; 2 :
2 3 3

k k k kπ π π + π − + π + π ∈ 
 

! . 

 
172. Решить уравнение с модулем 

sin 0 sin 0

3tg 3sin 0 3sin ( 3 cos ) 0
3tg 3 | sin |

sin 0 sin 0

3tg 3 sin 0 3sin ( 3 cos ) 0

x x

x x x x
x x

x x

x x x x

 ≥ ≥  
  

− = − =   = ⇔ ⇔ ⇔ < <     + = + =   

 

sin 0
sin 0

cos 3 решений нет
sin 0 :

sin 0
sin 0

cos 3 решений нет

x
x

x
x x k k

x
x

x

 ≥
  =

 = −⇔ ⇔ = ⇔ = π ∈ <  = 
  = − − 

! . 

Ответ: { : }k kπ ∈ ! . 
 
173. Решить уравнение с модулем 

cos 0 cos 0

3 ctg 3cos 0 3 cos (1 3sin ) 0
3 ctg 3 | cos |

cos 0 cos 0

3 ctg 3cos 0 3 cos (1 3 sin ) 0

x x

x x x x
x x

x x

x x x x

 ≥ ≥  
  

− = − =   = ⇔ ⇔ ⇔ ≤ ≤     + = + =   

 



2
cos 0cos 0

cos 0
1cos 0 arcsin 2cos 0 31sin 1 1sin3 arcsin 23 3cos 0

cos 0 cos 0cos 0
1sin1sin 3

3

x k

xx
x

x x kx
x

x x k
x

x xx
x

xx

π= + π

≥ ≥ 
=  =    = + π≥      =     =    = π − + π⇔ ⇔ ⇔   ≤  ≤ ≤ = 

   = −   = −     

1arcsin 2
3

1arcsin 2 :
3

k

x k k









 ⇔


  = − + π       = π + + π ∈  

!

 

2
1arcsin 2
3

1arcsin 2 :
3

x k

x k

x k k

 π= + π

⇔ = + π

 = π + + π ∈

!

. 

Ответ: 1 1; arcsin 2 ; arcsin 2 :
2 3 3

k k k kπ + π + π π + + π ∈ 
 

! . 

 
174. Решить уравнение с модулем 

2
2

2

tg 0 tg 0

2sin 3 tg sin (sin 2 3) 0
2sin | 3 tg |

tg 0 tg 0

2sin 3 tg sin (sin 2 3) 0

x x

x x x x
x x

x x

x x x x

 ≥ ≥  
  

= − =   = ⇔ ⇔ ⇔ < <     = − + =   

 

tg 0
sin 0

sin 2 3 решений нет
sin 0 :

tg 0
sin 0

sin 2 3 решений нет

x
x

x
x x k k

x
x

x

 ≥
  =

 = −⇔ ⇔ = ⇔ = π ∈ <  = 
  = − − 

! . 

Ответ: { : }k kπ ∈ ! . 
 
175. Решить уравнение с модулем 

2

2 2

2

cos 0cos 02cos 0 верно
sin 012cos | ctg | 2cosctg 2cos
sin 2 1sin

ctg 2cos 1 sin 2 12cos
sin

xxx
x

x x xx x
xx

x x xx
x


= = ≥ −  ≠ = ⇔ ⇔ = ⇔ ⇔ =  = = −  = −  = −

 



2 2cos 0
sin 2 1 2 2

2 4
sin 2 1

2 2 : :
2 4

x k x k
x
x x k x k
x

x k k x k k

π π = + π = + π 
=  

π π  ⇔ = ⇔ = + π ⇔ = + π  
 = −   π π = − + π ∈ = − + π ∈

  
! !

 

Ответ: ; ; :
4 4 2

k k k kπ π π − + π + π + π ∈ 
 

! . 

 
176. Решить уравнение с модулем 

| 2|sin |sin | 2| 2|sin |sin |4 2 2 2 2| 2 | sin | sin |x x x x x x x x x x x x− −= ⇔ = ⇔ − = ⇔  
sin 0

0
sin 0

2( 2)sin 0
2 | 2 | sin sin

2( 2)2 | 2 |
sin 0

sin 0 sin 0
0 0 верно

sin 0 sin 0
sin 0 2 | 2 | 0
2 | 2 | sin ( sin )

2( 2)
2( 2)

x
x

x
x xx

x x x x
x xx x

x
x x
x x

x x x x
x x x x

x x
x

>
 ≥ >  − = > − =     − = −− =   = ⇔ ⇔ = ⇔ = = −  > > >   − = − − >   − = − − =

− x







 ⇔
 
 
 
   = − 

 

sin 0
0
4 4
4 sin 4 0 неверно
3 44

sin 0 33
:sin 0 4sin 0 верно

30
:4

4
3

x
x
x x

x
xxx
x k kx

x
x k kx

x

 >
  ≥   =  =    > −   =     = = ⇔ = ⇔ ⇔   = π ∈>   > −  − >   = π ∈ =
 
  =   

!

!

. 

Ответ: 4 ; :
3

k k π ∈ 
 

! . 

 
177. Решить уравнение с модулем 

sin 0 sin 0
sin 0 sin 0
sin tg sin 1 tgsin tg | sin |
sin 0 sin 0
sin tg ( sin ) 1 tg

x x
x x
x x x xx x x
x x
x x x x

= = 
 > >    = == ⇔ ⇔ ⇔  

< <  
  = − = −   

 



sin 0
sin 0

2
4 4

sin 0 2 :
4

:
4

x
x x k

x k x k

x x k k
x k k

=
 > = π     π π= + π = + π ⇔ ⇔ 

 π< = − + π ∈  π = − + π ∈ 

!
!

. 

Ответ: 2 ; 2 ; :
4 4

k k k kπ π − + π + π π ∈ 
 

! . 

 
178. Решить уравнение с модулем 

cos 0
cos sinsincos tg | cos | cos | cos |

cos cos 0
cos sin

x
x xxx x x x x

x x
x x

 >
 == ⇔ = ⇔ ⇔ <  = − 

 

cos 0
cos 0

2tg 1 4 4
3cos 0cos 0 2 :
4tg 1 2 :

4

x
x

x k x kx
xx x k k

x x k k

 >
 >  π π = + π = + π =  ⇔ ⇔ ⇔  π<<   = + π ∈    π= −  = − + π ∈  

!
!

. 

Ответ: 32 ; 2 :
4 4

k k kπ π + π + π ∈ 
 

! . 

 
179. Решить уравнение с модулем 

2 0
2 | cos | ( 2) 2

2 0
| cos | (2 4) | 2 |

0 0 верно

2 0
2 | cos | ( 2) ( 2)

x
x x x

x
x x x

x
x x x

 − >
 − = −

 − =− = − ⇔ ⇔ = − 
 − <  − = − −

 

2

2 :2 32
12 | cos | 1 2 :os

322 0
1 2cos 2 :2 2 3

2 | cos | 1 решений нет 22 2 :
3

2

x

x k kxx
x x m mx

x
x x n nx

x x x l l

x

 >
  π  = + π ∈ >   >     π =      = − + π ∈=    ⇔ − = ⇔ ⇔    π   = − = + π ∈<      = − −    π=  = − + π ∈  

=

!

!

!

!

⇔






 



2 , 1, 2, ...
3

2 , 1, 2, ...
3

2 2 , 0, 1, ...
3
2 2 , 1, 2, ...
3

2

x k k

x m m

x n n

x l l

x

π = + π =


π = − + π =
⇔ π = + π =

 π = − + π =

 =

. 

Ответ: 2 22 , 1, 2, ...; 2 , 1, 2, ...; 2 , 0, 1, ...; 2 , 1, 2, ...; 2
3 3 3 3

k k m m n n l lπ π π π + π = − + π = + π = − + π = 
 

. 

 
180. Решить уравнение с модулем 

2 1 0
2 | sin | (2 1) 2 1

2 1 0
| sin | (4 2) | 2 1|

0 0 верно

2 1 0
2 | sin | (2 1) (2 1)

x
x x x

x
x x x

x
x x x

 + >
 + = +

 + =+ = + ⇔ ⇔ = − 
 + =  + = − +

 

1
21 1

2 2 :2 62 | sin | 1 1 5sin 2 :1 2 3
12 sin 2 :1 2 6

2 1 7 2 :2 | sin | 1 решений нет 2 3

x

x x x k k
x

x x m m
x

x x n n
x

x x l lx

 > −
   > − > − π   = + π ∈    =     π=   = + π ∈ ⇔ = − ⇔ ⇔

   π= −   = − + π ∈   < − 
   π= −  = + π ∈= − −  

!

!

!

!

2x








 ⇔     
 =

 

2 , 0, 1, ...
6
5 2 , 0, 1, ...
6

2 , 1, 2, ...
6

7 2 , 0, 1, ...
3
1
2

x k k

x m m

x n n

x l l

x

π = + π =


π = + π =
 π⇔ = − + π =

 π = + π =



= −

. 

Ответ: 5 7 12 , 0, 1, ...; 2 , 0, 1, ...; 2 , 1, 2, ...; 2 , 0, 1, ...;
6 6 6 3 2

k k m m n n l lπ π π π + π = + π = − + π = + π = − 
 

. 


